

ON FIXED POINT THEOREMS IN BANACH SPACES

Lj. B Ćirić

(Communicated September 1, 1975)

In [3] the following theorem is proved:

Let (M, d) be a complete metric space and let T be a selfmapping of M into itself such that

$$(1) \quad d(Tx, Ty) \leq q \max \left\{ d(x, y), d(x, Tx), d(y, Ty), \right. \\ \left. \frac{1}{2} (d(x, Ty) + d(y, Tx)) \right\}$$

for some $q < 1$ and all $x, y \in M$. Then T has a unique fixed point u in M and for each $x \in M$ the sequence $\{T^n x\}$ converges to u .

In subsequent papers [3—7] we studied mappings which satisfy conditions of the type (1).

R. Kannan [10—12] has investigated mappings defined on a bounded closed and convex subset K of a Banach space B and satisfying the following conditions:

$$(2) \quad \|Tx - Ty\| \leq \frac{1}{2} (\|x - Tx\| + \|y - Ty\|), \quad x, y \in K$$

and

$$(3) \quad \sup_{z \in D} \|z - Tz\| \leq \frac{\delta(D)}{2},$$

where D is any convex subset of K which is mapped into itself by T ($\delta(D)$ — the diameter of D). In [10] Kannan has proved the following:

(0.1) If B is reflexive and $T: K \rightarrow K$ satisfies (2) and (3), then T has a unique fixed point in K ;

(0.2) If B is a uniformly convex space and $T: K \rightarrow K$ satisfies (2) and (3), then the sequence $\left\{ \frac{x_n + Tx_n}{2} \right\}, x_0 \in K$, converges to the fixed point in K .

In [9] and [14] are proved fixed point theorems for continuous mappings which satisfy certain conditions of generalized nonexpansivity. A fixed point for such mappings need not be unique.

In the present note we consider mappings, unnecessarily continuous, which map a bounded closed and convex subset K of a Banach space B into itself and satisfy the following conditions:

$$(4) \quad \|Tx - Ty\| \leq \max \left\{ \|x - Tx\|, \|y - Ty\|, \frac{1}{3} (\|x - Ty\| + \|y - Tx\|), \right. \\ \left. \frac{1}{3} (\|x - y\| + \|x - Tx\| + \|y - Ty\|) \right\}, \quad x, y \in K$$

and

$$(5) \quad \sup_{z \in D} \|z - Tz\| \leq \frac{\delta(D)}{2},$$

where D is any nonempty closed convex subset of K which is mapped into itself by T . Results here presented are extensions of the cited results of R. Kannan.

1. Before proving theorems, we state one definition and some results. A Banach space B is said to be *uniformly convex* if given $\varepsilon > 0$ there exists $\delta(\varepsilon)$ such that $\|x - y\| \geq \varepsilon$ for $\|x\| < 1$ and $\|y\| < 1$ implies that

$$\frac{1}{2} \|x + y\| \leq 1 - \delta(\varepsilon).$$

(1.1). Let B be a uniformly convex Banach space and let ε, Q be positive constants. Then there exists a constant q with $0 < q < 1$ such that

$$\|x\| \leq Q, \quad \|y\| \leq Q, \quad \|x - y\| \geq \varepsilon \text{ imply } \|x + y\| \leq 2q \max\{\|x\|, \|y\|\}.$$

(1.2) Every uniformly convex Banach space is norm-reflexive.

(1.3) A necessary and sufficient condition that a Banach space B be reflexive is that every bounded sequence of nonempty closed convex subsets of B has a nonempty intersection.

Theorem 1. *Let B be a reflexive Banach space, K a nonempty bounded closed and convex subset of B and $T: K \rightarrow K$ a mapping satisfying (4) and (5). Then T has a unique fixed point in K .*

Proof. Let \mathcal{F} denote the family of all nonempty closed and convex subsets of K , which T maps into itself. By Zorn's lemma and the result of Smulian [14] it follows that \mathcal{F} has a minimal element, say C .

Define

$$r_x(C) = \sup_{y \in C} \|x - y\|, \quad x \in C,$$

$$r(C) = \inf_{x \in C} r_x(C)$$

and

$$C_c = \{x \in C : r_x(C) = r(C)\}.$$

The set C_c is nonempty closed and convex. Indeed, if for each $n \in \mathbb{N}$ we put $C(x, n) = \left\{ y \in C : \|x - y\| \leq r(C) + \frac{1}{n} \right\}$ and $F_n = \bigcap_{x \in C} C(x, n)$, then it follows that $\{F_n\}$ is a decreasing sequence of nonempty bounded closed and convex sets

Since B is reflexive, it follows (by Theorem (1.3)) that $C_c = \bigcap_{n=1}^{\infty} F_n$ is nonempty closed and convex.

For $x \in C_c$ and $y \in C$ we have

$$\begin{aligned} \|Tx - Ty\| &\leq \max \left\{ \|x - Tx\|, \|y - Ty\|, \right. \\ &\quad \left. \frac{1}{3} (\|x - Ty\| + \|y - Tx\|), \frac{1}{3} (\|x - y\| + \|x - Tx\| + \|y - Ty\|) \right\} \\ &\leq \max \left\{ \frac{\delta(C)}{2}, \frac{1}{3} (\|x - Ty\| + \|x - y\| + \|x - Tx\|), \frac{1}{3} (\|x - y\| + \delta(C)) \right\} \\ &\leq \sup_{y \in C} \|x - y\| = r_x(C) = r(C). \end{aligned}$$

Therefore, $T(C)$ is contained in a closed spherical ball $\bar{S}[Tx, r(C)]$ and hence $T(C \cap \bar{S}) \subseteq C \cap \bar{S}$ (as $T(C) \subseteq C$). Then by the minimality of C , we get $C \subseteq \bar{S}$. Hence $\|Tx - y\| \leq r(C)$ for each $y \in C$. So,

$$(6) \quad \sup_{y \in C} \|Tx - y\| \leq r(C).$$

Hence

$$r_{Tx}(C) = \sup_{y \in C} \|Tx - y\| \leq r(C),$$

which implies that

$$r_{Tx}(C) = r(C), \quad \text{i.e., } Tx \in C_c.$$

Therefore, we proved that

$$(7) \quad T(C_c) \subseteq C_c.$$

We claim that, if C contains more than one element, then C_c is a proper subset of C . Suppose not, i.e., $C_c = C$. Then for $x, y \in C$

$$r_x(C) = r_y(C) = r(C).$$

Therefore, $\sup_{z \in C} \|x - z\| = \sup_{z \in C} \|y - z\|$ for $x, y \in C$. This clearly implies that $\sup_{z \in C} \|x - z\| = r(C)$, a constant for all $x \in C$. Hence $\delta(C) = \sup_{x, z \in C} \|x - z\| = r(C)$

This implies that for $x \in C = C_c$ (and $Tx \in C_c$)

$$(8) \quad \sup_{z \in C} \|Tx - z\| = \delta(C).$$

Now by condition (4) we have for $x, y \in C = C_c$

$$\begin{aligned} \|Tx = Ty\| &\leq \max \left\{ \|x - Tx\|, \|y - Ty\|, \frac{1}{3} (\|x - Ty\| + \|y - Tx\|), \right. \\ &\quad \left. \frac{1}{3} (\|x - y\| + \|x - Tx\| + \|y - Ty\|) \right\} \\ &\leq \max \left\{ \frac{\delta(C)}{2}, \frac{2}{3} \delta(C), \frac{1}{3} (\delta(C) + \delta(C)) \right\} \leq \frac{2}{3} \delta(C). \end{aligned}$$

Proceeding in the same manner as in (6) we now get $\sup_{y \in C} \|Tx - y\| \leq \frac{2}{3} \delta(C)$, which contradicts (8) because C contains more than one element.

Thus we conclude that if C contains more than one element, then C_c is a proper subset of C . But then, in view of (7), it contradicts the minimality of C . Therefore, C contains only one element, say u . Since T maps C into itself, u is a fixed point of T .

The uniqueness of the fixed point u follows by (4). Indeed, if $v = Tv$ then

$$\begin{aligned} \|u - v\| = \|Tu - Tv\| &\leq \max \left\{ 0, \frac{1}{3} (\|u - v\| + \|v - \sigma\|), \right. \\ &\quad \left. \frac{1}{3} (\|u - v\|) \right\} = \frac{2}{3} \|u - v\| \end{aligned}$$

and hence $\|u - v\| = 0$. Therefore, $v = u$.

The proof of the Theorem is complete.

Now we prove a Theorem similar to that of Krasnoselskii [13] and [8], but for different kind of mappings.

Theorem 2. *Let K be a nonempty bounded closed and convex subset of a uniformly convex Banach space B and $T: K \rightarrow K$ a mapping satisfying*

$$(4') \quad \|Tx - Ty\| \leq \max \left\{ \frac{1}{2} (\|x - Tx\| + \|y - Ty\|), \frac{1}{3} (\|x - Ty\| + \|y - Tx\|), \right. \\ \left. \frac{1}{3} (\|x - y\| + \|x - Tx\| + \|y - Ty\|) \right\}$$

and (5). Then the sequence $\{x_n\}_{n=0}^{\infty}$, where $x_{n+1} = \frac{x_n + Tx_n}{2}$, converges to the fixed point of T in K , where x_0 is any arbitrary point of K .

Proof. Since every uniformly convex Banach space is reflexive, and (4') implies (4), by Theorem 1 T has a unique fixed point u in K . Then we have

$$\begin{aligned} \|Tx_n - u\| = \|Tx_n - Tu\| &\leq \max \left\{ \frac{1}{2} (\|x_n - Tx_n\| + 0), \right. \\ &\quad \left. \frac{1}{3} (\|x_n - u\| + \|u - Tx_n\|), \frac{1}{3} (\|x_n - u\| + \|x_n - Tx_n\|) \right\} \\ &\leq \max \left\{ \frac{1}{2} (\|x_n - u\| + \|u - Tx_n\|), \frac{1}{3} (\|x_n - u\| + \|x_n - u\| + \|u - Tx_n\|) \right\}. \end{aligned}$$

As $\|Tx_n - u\| \leq \frac{1}{2} (\|x_n - u\| + \|u - Tx_n\|)$ implies $\|Tx_n - u\| \leq \|x_n - u\|$, and

$\|Tx_n - u\| \leq \frac{1}{3} (2\|x_n - u\| + \|u - Tx_n\|)$ implies $\|Tx_n - u\| \leq \|x_n - u\|$, it follows

$$(9) \quad \|Tx_n - u\| \leq \|x_n - u\|.$$

We now consider the sequence $\{\|x_n - Tx_n\|\}$. Assume that

$$\|x_n - Tx_n\| \geq \varepsilon > 0 \text{ for all } n \in N.$$

Then

$$\|(x_n - u) - (Tx_n - u)\| = \|x_n - Tx_n\| \geq \varepsilon, \quad n \in N.$$

Hence, as B is uniformly convex and $x_n, Tx_n \in K$,

$$\begin{aligned} 2 \|x_{n+1} - u\| &= 2 \left\| \frac{x_n + Tx_n}{2} - u \right\| = \|(x_n - u) + (Tx_n - u)\| \\ &\leq 2q \max \{\|x_n - u\|, \|Tx_n - u\|\}, \quad n > n_0, \quad 0 < q < 1. \end{aligned}$$

Then by (9) we obtain

$$\|x_{n+1} - u\| \leq q \cdot \|x_n - u\|, \quad n > n_0, \quad 0 < q < 1.$$

Hence $\lim_{n \rightarrow \infty} \|x_n - u\| = 0$. Thus $\lim_{n \rightarrow \infty} x_n = u$ when $\inf_{n \in N} \{\|x_n - Tx_n\|\} > 0$.

Suppose now that

$$\inf \{\|x_n - Tx_n\|\} = 0.$$

If $\|x_n - Tx_n\| = 0$ for some n , then x_n is a fixed point of T and hence $x_n = u$.

Then $x_{n+1} = \frac{x_n + Tx_n}{2} = \frac{u + Tu}{2} = u$ and $\lim_{n \rightarrow \infty} x_n = u$. Let now $\|x_n - Tx_n\| > 0$ for each $n \in N$. Then there exists a subsequence $\{x_{n_i}\}$ of the sequence $\{x_n\}$ such that

$$(10) \quad \lim_{i \rightarrow \infty} \|x_{n_i} - Tx_{n_i}\| = 0.$$

By (4) we have

$$\begin{aligned} \|Tx_{n_i} - Tx_{n_j}\| &\leq \max \left\{ \frac{1}{2} (\|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\|), \right. \\ &\quad \frac{1}{3} (\|x_{n_i} - Tx_{n_j}\| + \|x_{n_j} - Tx_{n_i}\|) \\ &\quad \left. \frac{1}{3} (\|x_{n_i} - x_{n_j}\| + \|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\|) \right\} \\ &\leq \max \left\{ \frac{1}{2} (\|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\|), \frac{1}{3} (\|x_{n_i} - Tx_{n_i}\| + \|Tx_{n_i} - Tx_{n_j}\| + \right. \\ &\quad \left. + \|x_{n_j} - Tx_{n_j}\| + \|Tx_{n_j} - Tx_{n_i}\|), \frac{1}{3} (\|x_{n_i} - Tx_{n_i}\| + \|Tx_{n_i} - Tx_{n_j}\| + \|Tx_{n_j} - x_{n_j}\| + \right. \\ &\quad \left. + \|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\|) \right\} \leq \frac{2}{3} (\|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\| + \|Tx_{n_i} - Tx_{n_j}\|). \end{aligned}$$

Hence

$$\|Tx_{n_i} - Tx_{n_j}\| \leq 2 (\|x_{n_i} - Tx_{n_i}\| + \|x_{n_j} - Tx_{n_j}\|).$$

So by (10) $\{Tx_{n_i}\}_{i=1}^{\infty}$ is a Cauchy sequence and hence it converges, say, to v .

Then by (10)

$$(11) \quad \lim_{i \rightarrow \infty} x_{n_i} = \lim_{i \rightarrow \infty} Tx_{n_i} = v.$$

Now

$$\begin{aligned} \|v - Tv\| &\leq \|v - x_{n_i}\| + \|x_{n_i} - Tx_{n_i}\| + \|Tx_{n_i} - Tv\| \leq \|v - x_{n_i}\| + \|x_{n_i} - Tx_{n_i}\| + \\ &+ \max\left\{\frac{1}{2}(\|x_{n_i} - Tx_{n_i}\| + \|v - Tv\|), \frac{1}{3}(\|x_{n_i} - Tv\| + \|v - Tx_{n_i}\|), \right. \\ &\left. \frac{1}{3}(\|x_{n_i} - v\| + \|x_{n_i} - Tx_{n_i}\| + \|v - Tv\|)\right\} \leq \|v - x_{n_i}\| + \|x_{n_i} - Tx_{n_i}\| + \\ &+ \frac{1}{2}(\|x_{n_i} - v\| + \|v - Tv\| + \|v - Tx_{n_i}\| + \|x_{n_i} - Tx_{n_i}\|). \end{aligned}$$

So

$$\|v - Tv\| \leq 3(\|v - x_{n_i}\| + \|x_{n_i} - Tx_{n_i}\|) + \|v - Tx_{n_i}\|$$

and hence, by (11), $v = Tv$. Then $v = u$, as T has the unique fixed point u . Using (9) we obtain that

$$\|x_{n+1} - u\| = \left\| \frac{x_n + Tx_n}{2} - \frac{u + u}{2} \right\| \leq \frac{1}{2}(\|x_n - u\| + \|Tx_n - u\|) \leq \|x_n - u\|,$$

and since $\lim_{n \rightarrow \infty} x_{n_i} = v = u$, we have $\lim_{n \rightarrow \infty} \|x_n - u\| = 0$, i.e., $\lim_{n \rightarrow \infty} x_n = u$.

The proof of the Theorem is complete.

Theorem 3. Let B be a uniformly convex Banach space and let T be a selfmapping of B into itself satisfying (4') on B and

$$(5') \quad \sup_{y \in D} \|y - Ty\| \leq \frac{\delta(D)}{2},$$

where D is any nonempty convex subset of B which is mapped into itself by T . Then T has a fixed point in B if and only if the sequence $\{x_n\}_{n=0}^{\infty}$, $x_{n+1} = \frac{x_n + Tx_n}{2}$, x_0 being an arbitrary point, converges in B .

Proof. If T has a fixed point u in B , then, proceeding in the same manner as in Theorem 2, we obtain $\lim_{n \rightarrow \infty} x_n = u$.

Assume now that $\{x_n\}$ converges and let

$$v = \lim_{n \rightarrow \infty} x_n.$$

We define an operator F by T as follows

$$Fx = \frac{x + Tx}{2}.$$

Then F maps B into itself and we have

$$(12) \quad \|x_{n+1} - Fv\| = \|Fx_n - Fv\| = \left\| \frac{x_n + Tx_n}{2} - \frac{v + Tv}{2} \right\| \leq \frac{1}{2}(\|x_n - v\| + \|Tx_n - Tv\|).$$

As $\|z - Tz\| = 2\|z - Fz\|$ for each $z \in B$, by (4') we get

$$\begin{aligned} \|Tx_n - Tv\| &\leq \max \left\{ \frac{1}{2} (\|x_n - Tx_n\| + \|v - Tv\|), \frac{1}{3} (\|x_n - Tv\| + \|v - Tx_n\|), \right. \\ &\quad \left. \frac{1}{3} (\|x_n - v\| + \|x_n - Tx_n\| + \|v - Tv\|) \right\} \\ &\leq \max \left\{ \frac{1}{2} (\|x_n - Tx_n\| + \|v - Tv\|), \right. \\ &\quad \left. \frac{1}{3} (\|x_n - v\| + \|v - Tv\| + \|v - x_n\| + \|x_n - Tx_n\|) \right\} \\ &\leq \frac{1}{2} (2\|x_n - v\| + \|x_n - Tx_n\| + \|v - Tv\|) = \|x_n - v\| + \|x_n - Fx_n\| + \|v - Fv\| \\ &= \|x_n - v\| + \|x_n - x_{n+1}\| + \|v - Fv\|. \end{aligned}$$

Therefore, we have by (12)

$$\begin{aligned} \|x_{n+1} - Fv\| &\leq \frac{1}{2} [\|x_n - v\| + (\|x_n - v\| + \|x_n - x_{n+1}\| + \|v - Fv\|)] \\ &\leq \|x_n - v\| + \frac{1}{2} (\|x_n - x_{n+1}\| + \|v - x_{n+1}\| + \|x_{n+1} - Fv\|). \end{aligned}$$

Hence

$$\|x_{n+1} - Fv\| \leq 2\|x_n - v\| + \|x_{n+1} - v\| + \|x_n - x_{n+1}\|.$$

Since $\lim_{n \rightarrow \infty} x_n = v$, the above inequality implies $v = Fv$. Thus $v = Fv = \frac{v + Tv}{2}$, which gives $v = Tv$.

The proof of the Theorem is complete.

REFERENCES

- [1] F. E. Brouder, *Nonexpansive nonlinear operators in a Banach space*, Proc. Net. Acad. Sci. U.S.A; 54 (1965), 1041 — 1044.
- [2] F. E. Brouder and W. V. Petryshin. *The solution by iteration of nonlinear functional equations in Banach spaces*, Bull. Amer. Math. Soc. 72 (1966) 571 — 575.
- [3] Lj. Ćirić, *Generalized contractions and fixed point theorems*, Publ. Inst. Math. 12 (26) (1971), 19 — 26.
- [4] Lj Ćirić, *Fixed point theorems for mapping with a generalized contractive iterate at a point*, Publ. Inst. Math. 13 (27) (1972), 11 — 16.
- [5] Lj. Ćirić, *Fixed points for generalized multi-valued mappings*, Mat. vesnik 9 (24) (1972), 265 — 272.
- [6] Lj. Ćirić, *A generalization of Banach's contraction principle*, Proc. Amer. Math. Soc., 45 (1974), 267 — 273.

- [7] Lj. Ćirić, *On fixed points of generalized contractions on probabilistic metric spaces*, Publ. Inst. Math. 18 (32) (1975) 71—78.
- [8] M. Edelstein, *A remark on a theorem of M. A. Krasnoselskii*, Amer. Math. Monthly 73 (1966), 509 — 510.
- [9] K. Geobel, W. A. Kirk and T. N. Shimi, *A fixed point theorem in uniformly convex spaces*, Boll. U. M. I. (4) 7 (1973), 67 — 75.
- [10] R. Kannan, *Some results on fixed points-III* Fund. Math. LXX (1971), 169 — 177.
- [11] R. Kannan, *Some results on fixed points-IV*, Fund. Math. LXXIV (1972), 181 — 197.
- [12] R. Kannan, *Constructions of fixed points of a class of nonlinear mappings*, J. Math. Anal. Appl., 41 (1973), 430 — 438.
- [13] M. A. Krasnoselskii, *Two remarks on the method of successive approximations*, Uspehi Mat. Nauk 10 (63), 1965, 123 — 127.
- [14] I. Massabo, *On the construction of fixed points for a class of non-linear mappings*, Boll. U. M. I., (4) 10 (1974), 512 — 528
- [15] V. Smulian, *On the principle of inclusion in the space of type (B)*, Math. Sb. 5 (1939), 327 — 328.